TEACHER:  PLEASE READ

There are two versions of this test, one after the other.  You want to hand out the test so that half the students get one version, and half the other version.  Print two to a page (backed) so each student gets a small quiz to complete.

The tests are identical except for the numbers chosen as the anchor in questions #4 and #6.  This is an experiment and can be discussed as such.  Depending on the school, question #4 might need to be changed to something the students won’t know, or the numbers adjusted for the size of the school.
Ideas to promote class discussion when going over the test:

Question #1 (Rudy Swinkels)

Student can be encouraged to do research to find out the numbers of people in different professions in NZ.

This is not an easy task.  Problems of definition can be discussed (what is a farmer?) Recency of statistical information.  Stats NZ vs Wikipedia as a data source.

Good sources of data (first one also useful for students considering their future):

https://www.careers.govt.nz/jobs-database/   859 surgeons in 2017. 13,000 lawyers in 2017 (adding barristers & solicitors)

http://archive.stats.govt.nz/browse_for_stats/environment/environmental-reporting-series/environmental-indicators/Home/Land/farm-size-and-numbers.aspx 53000 farms in 2016

Questions #4 and #6
The results for the anchoring questions can be gathered on the whiteboard or put into a csv file and looked at on nzgrapher.  Discuss sampling variability with small samples and that you will learn later how to tell if the difference is likely to be real or just due to randomness.  Could link here to what randomness looks like, or as an introduction to experimental design.

Question #3

On the PowerPoint, the first slide with actual data has the 1997 figures.  Before moving on, ask students to predict how death rates have changed in the last 20 years, what would be higher, what would be lower.  Show them the 2016 data on the next slide and discuss reasons for the difference (students could do some research).  Fewer heart deaths are partially due to less smoking, better treatment of people at risk (eg statins) is part of the answer. Paradoxically more diabetes is primarily due to more obesity.

Probability minitest 1
1.  Rudy Swinkels is a bit on the peculiar side.  He has unusual tastes in movies and art, he is married to a performer, and he has tattoos on various parts of his body.  In his spare time Rudy takes yoga classes and likes to collect 78rpm records.  An outgoing and rather boisterous person, he has been known to act on a dare on more than one occasion.  What do you think Rudy’s occupation most probably is?  (circle one)
a)  farmer          b) librarian
      c) trapeze artist
   d) surgeon           e) lawyer
2.  Consider the first 2000 words of the novel Pride and Prejudice:

a) How many words would have n as the second last letter?  ____

b) How many words would start with the letter p?                  ____

c) How many words would end in …ing?                               ____

3.  What is the probability of a person in New Zealand dying due to:

a)  stroke?

b)  diabètes ?
c)  car crash ?
d)  heart disease?

e)  breast cancer?
4.  a) How many teachers are there at this school?  (circle one)

 More than 200 



Fewer than 200
b)  What is your exact guess of the number of teachers at this school?   _____

5.  Linda is 31 years old, single, outspoken, and very bright.  She has a degree in philosophy.  As a student she was deeply concerned with issues of discrimination and social justice, and worked as a volunteer for Oxfam.  What is more likely? (circle one)

Linda is a bank teller?  

Linda is a bank teller who is active in the Labour party?
6. a) Was Mahatma Gandhi older or younger than 16 when he died? _______
     b)  How old do you think Mahatma Gandhi was when he died?  _________

7.  How many millions in a billion?
8.  If the probability that Gina will need to wear glasses in the next 10 years is 1 in 100, and Chris’s probability of wearing glasses is double that of Gina’s, then what probability of wearing glasses does Chris have?
                                                                         _____________

9.  Imagine we roll a fair, six-sided die 1000 times.  Out of 1000 rolls, how many times do you think the die will come up even (2, 4 or 6)?

                                                                                                        ____________
10.  In the ACME Publishing Sweepstakes, the chance of winning a car is one in 1000.  What percent of tickets in the ACME Publishing Sweepstakes win a car?
                     ____________
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5.  Linda is 31 years old, single, outspoken, and very bright.  She has a degree in philosophy.  As a student she was deeply concerned with issues of discrimination and social justice, and worked as a volunteer for Oxfam.  What is more likely? (circle one)
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